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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. What is Independent Branch?

2. What is departmental Accounting?

3. Who is Default in Hire Purchase System?

4. What is goodwill?
5. From the following particulars, calculate closing branch debtors balance:

Branch Debtors (1-1-2010)

` 6,300

Credit Sales



` 39,000

Cash received from debtors

` 41,200

6. From the following details, calculate the net load on goods sent, to branch:

Goods sent to branch (Cost to H.O)

`1,80,000

Goods returned by branch to H.O


` 25,000

Goods are invoiced to the branch at cost plus 25%

7. Apportion the following expenses on the basis of cost of goods sold ration among the four departments, A,B,C & D:

Sales (`)


:
A : 2,00,000
B : 1,50,000
C : 1,00,000
D : 50,000

Gross Profit Ratio
:
20 % on sales

Expenses 


: 
 Salaries ` 6,000;  Rent & Rates  ` 1,500;  Insurance  ` 1,300

8. Mixed goods were purchased for `1,00,000 and later they were assorted into three categories X,Y and Z  as follows:

 X
1,000
-
Selling Price `20 each

 Y
2,000
-
Selling Price `22.50 each

 Z
2,400
-
Selling Price `25 each

All categories yield the same rate of profit. Calculate the purchase price of each category.

9. Raman purchases a motor car from Bharathan whose cash price is `56,000 on 1.1.2003. ` 15,000 is paid on signing the contract and the balance is to be paid in three equal annual instalments of              ` 15,000 each. The rate of interest is 5% p.a. calculate the amount of interest included in each instalment.

10. Calculate the amount of Goodwill in the following case:

Three years purchase of the last four years average profits is agreed as the goodwill value. The profits and losses for the last four years are:

I year  -  5,000,  II year -  8,000,   III year  -   3,000 (loss),     IV year   -  6,000

11. X, Y and Z are partners in a firm sharing profits and losses in the ratio of 5:3:2. Y retires from the firm and his share was taken up by X and Z in the ratio of 2:1. Calculate the new profit sharing ratio.

12. What Journal entries would you pass for the following assuming all assets and liabilities are already transferred to realisation account:

a) Unrecorded asset realises 


` 5,000

b) Unrecorded liability paid 


` 3,000

c) A liability taken over by partner X’ 
` 8,000

                                                             SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Explain the procedure to maintain accounts of a Branch under Stock and Debtor System.

14. Distinction between Departments and Branches

15. Good Luck Ltd. opened a branch on 1-1-2010 at Calcutta. The following information is supplied to you. Prepare Branch A/c.

   
    
    `
Goods sent to Branch




50,000

Sales: Cash `20,000 and Credit `36,000
56,000

Cash received from Debtors



32,000

Discount allowed to them



     600

 Cash sent to branch for expenses


   7,000

 Stock on 31-12-2010




   8,000

 Debtors on 31-12-2010



   3,400

16. The following information is given by Balan, a merchant, for the year ended 31-12-2001.

Sales :
Dept. I

70,000

Purchase : 
Dept. I
43,000





Dept. II

30,000



Dept.  II
25,000

Stock (1-1-2001)




Commission

  2,200

Dept. I


  3,400

Salary


  5,400



Dept. II


  1,100

Advertisement

  5,800


Debtors



23,000

Bank Charges

     120


Office furniture

 
  1,080

Stationery


  2,700


Rent




  1,800

Wages

 
10,000


Insurance



  2,400

Provide depreciation at 10% on furniture. Bad debts `300. Create 10% provision for discount on debtors. Stock position on 31-12-2001, Dept. I  `. 4,000 and Dept.  II  ` 1,680.

From the above information, prepare the departmental trading and profit & loss account. Expenses are allocated on the basis of sales.

17. From the following details, set out the Hire Purchase Trading A/c in the books of a trader who sells a number of articles of comparatively small value daily on the hire purchase system, showing his profit on this department of the business for the year ended 31.12.98. for the purpose of charging his hire purchase customers, he adds 60% to the cost of the goods.

   `
01.01.98
 Stock in Customers hands at selling price




1,620

31.12.98    Sales of goods on hire purchase during the year at selling price
6,534



 Cash received from hire purchase customers at selling price

2,100



 Stock in customers hand at selling price




4,674



 Goods repossessed (Instalments due `1000) Valued at
   

   250

18. M and N are partners sharing Profits and Losses in the ration of 5 : 3. On admission of a new partner ‘O’, the decide to revalue the assets and liabilities of the firm as under :

a) Increase the value of the building by `22,000.

b) Unrecorded investments of `4,000 to be brought into account.

c) Decrease the value of stock by `2,00 and Furniture by `1,000

d) Write off Sundry Creditors by ` 1,000

Give necessary journal entries and prepare Revaluation Account.
19. P, Q, and R share profits in proportion of ½, ¼ and ¼ . on the date of dissolution their Balance Sheet was as follows:

	Liabilities
	`
	Assets
	`

	Sundry Creditors

Capital:

P’s Capital                            Q’s Capital                             R’s Capital
	14,000

10,000

10,000

  6,000
	Sundry Assets
	40,000

	
	40,000
	
	40,000


The assets realised ` 35,500. Creditors were paid in full. Realisation expenses amounted to ` 1,500. 
Close the books of the firm.

SECTION-C    (2 ×  15 = 30 marks)   
Answers any TWO Questions
20. The Mumbai Commercial Company invoiced goods to its Ranchi Branch at cost. The Head office paid all the branch expenses from its bank except petty cash expenses which were paid by the branch. From the following details relating to the branch, prepare,

a) Branch Stock A/c

b) Branch Debtors A/c

c) Branch Expenses A/c

d) Branch P & L A/c

Stock (Opening)


21,000

Discount to Customers
   4,200

Debtors (Opening)

37,800

Bad debts


   
   1,800

Petty Cash (Opening)

     600

Goods returned by 

Goods sent from H.O

78,000


customers to branch
   1,500

Goods returned to H.O
  3,000

Salaries & Wages

 18,600

Cash sales



52,500

Rent & Rates


   3,600

Advertisement


   2,400

Debtors (Closing)

 29,400

Cash received from debtors  85,500

Petty cash (Closing)

      300

Stock (Closing )


 19,500

Credit Sales


 85,200

Allowances to customers
      600

21. Daniel of Pallavaram purchased goods for his three departments as follows:

Dept 
X
-
    200 units

Dept 
Y
-
1,400 units

Dept 
Z
-
   400 units

Total cost of `5,100

Sales of the three departments were as follows:




Dept 
X
-
   180 units @ `15 per unit

Dept 
Y
-
1,500 units
@ `18 per unit

Dept 
Z
-
   450 units
@ `  6 per unit
Other information about stock in the beginning was as follows:

Dept 
X
-
    100 units

Dept 
Y
-
    400 units

Dept  Z
-
      60 units


Daniel Informs you that the rate of Gross profit is the same in all departments. You 

are required to prepare Departmental Trading Account.


22. On 1.1.2005, a firm purchased a Truck on Instalment system. The cash price of the Truck was `11,175 and payment was to be made as follows:

` 3,000 was to be paid on signing of the agreement and the balance in three instalments of `3,000 each at the end of each year. Interest at 5% is charged by the vendor. The firm has decided to write off 10% annually on the diminishing balance of the cash price.

Give Journal entries and ledger Accounts in the books of the purchaser and Hire vendor.

23. A,B and C are partners in a firm sharing profits and losses in the ration of  1/3 : ½ : 1/6  respectively. Their Balance Sheet as on 31-12-2008 was as follows,

	Liabilities
	`
	Assets
	`

	Sundry Creditors

Loan payable

Reserve Fund

Capital:                       A

                                    B

                                    C
	25,000

15,000

16,000

30,000

40,000

25,000


	Building

Machinery

Furniture

Stock         

Debtors                18,000

Less: Provision         500
Cash
	50,000

40,000

10,000

25,000

17,500

   8,500

	
	1,51,000
	
	1,51,000


C’ retires on 31-12-2008 subject to the following conditions:

a) A goodwill accounts is created in the books for `24,000

b) Machinery to be depreciated by 10%

c) Furniture to be depreciated by 5%

d) Stock to be appreciated by 15% and buildings to be appreciated by 10%

e) Reserve for doubtful debts to be raised to `2,000

Prepare necessary ledger accounts and show the Balance Sheet of the New Firm.

————————
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